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problem 42

Following 1Sstthe Profit & Loss Statement and Balance Sheet of Awkash Ltd. :
atement of Profit and Loss of Awkash Ltd.

(for the year ended.....)

R P t 3 l
- L articulars Note No. | Amount | Amount
Sales (Revenue from Operations) 5 v
N Add : Other Income : 4,00,000

2.0 Total Re =

O’O(X Less : Expenses : T AL
Cost of Goods Sold :
Opening Stock 50,000
Add : Purchases 3.00.000

2,00 £0.000

’\:OQ e 3,50,000

4,00y, TR e8g Slock 50,000 3,00,000

Other Expenses T B
N : 20,000 - 3,20,000
80,0“___ et Profit during the year 80,000
% Balance Sheet
3 (as at.....)

1,80,0“ Particulars Note No. | Amount | Amount
3
53'0“ [ EQUITY & LIABILITIES 5 X
8 ) 1. Shareholders’ Funds :

3& Equity Share Capital 2,00,000
»40,0) Reserve 50,000
20,0y Statement of Profit & Loss 80,000

m 2. Current Liabilities :

=1 Trade Payables (Creditors) 20,000

Total (1 + 2) 3,50,000
II. ASSETS
1. Non-current Assets :
Plant/Machinery ! 1,00,000
Land/Building | (Tansible) 50,000
2. Current Assets :
Inventory (Stock) 50,000
Trade Receivables (Debtors) 90,000
Cash and Cash Equivalents :
Cash at Bank 60,000
Total (1 + 2) _3,50,000

Calculate the following Ratios :

1. Stock T.O. Ratio 2. Debtors T.O. Ratio
3. Creditors T.O. Ratio 4. W.C. T.O. Ratio

5. F.A. T.O. Ratio

Solution
Cost of Sales

(1)

Stock Turnover Ratio =70, 2o "Stock

6. Proprietor’s Fund T.O. Ratio



3,00,000 N

~ 1 (50,000 + 50,000 -
S. Det
3,00,000
o it Il bl -
= 50,000 ~ ° times f»ﬁﬁt
(2) i, Debtors Turnover Ratio = ok (?redﬂ: Sl S.T.In
Closing Debtors
4,00,000 N
¥ ‘! : ow,
=790,000 _ 4.4 timeg
X . _ Credit Purchases
(3) Creditors Turnover Ratio = Closing Creditors
3,00,000
2 P Bt oo dC W .
S020,0000 = 0 - ch
: , . __ Cost of Sales problem
(4) Worlgng Capital Turnover Ratio = WorkingCanital From
3,00,000 : g
= W = 1.67 timeg Prefe
Where, Working Capital = C.A. - C.L. e
=%.2,00,000 - 20,000 =% 1 g 2o
Cost of Sales O
(5)  Fixed Assets Turnover Ratio = Trad
Fixed Assets Outs
3,00,000 : :
RO UV U Jution
TE0I0000 < s =
ut b 3 . Cost of Sales
(6) Proprietors’ Fund Turnover Ratio= Proprietors’ Fund Whe
3,00,000
IO UL, LATCS -
=3.30,000 0.91 time
Where, Proprietors’ Fund = Capital + R.F. + P/L =% 3,30,0

FINANCIAL POSITION RATIO . Now



